N = 0l & AF & F Al A

A FENUXE M
A HAEWUX dASH(AY - SAIL/HEHRL R0 E)

SHol ATHAOILIX HE & 23 (Etel: &8
_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE
=E=LVIEPAE=EIn' 13,413,226 13,089, 185 324,041
= 9,132,900
= 4,280,326
=F=VEDNIRNI=E= 2= JONI="IR- PNl L=Vl [EPNEIDVE- DI TP 13,381,641 13,057,600 324,041
= 9,132,900
= 4,248,741
ATHAOILR HE & 23 9,376,800 8,982,000 394,800
= 8,112,900
= 1,263,900
WIEPNE=E IS 21,900 35,900 14,000
201 Lere gl 13,000 20,000 A7,000
01 At el 10,000 15,000 5,000
ONUXIZEY BEAY = 10,000
03 A2 3,000 5,000 £2,000
O Hl4XI= ko 3,000
202 01t 8,900 8,900 0
01 201 8,900 8,900 0
OMUXI = el 8,900
ATHAOIL X A& 2te 147,200 151,800 4,600
201 Lere gl 117,700 102,300 15,400
01 At el 37,700 30,000 7,700
OZYN AlY 37,700
02 2Z2H| 80,000 72,300 7,700
OZHLNEX 39,600
o%HI FIIR 40,400
202 01t 9,500 9,500 0
01 =0 9,500 9,500 0
OMMMOLEK Y2 = 9,500
401 Al HI LS OHY] 20,000 40,000 20,000
01 A& 20,000 40,000 20,000
OZHYN AlY 20,000
AITHASOI LI X & AI2H BHE 84,800 100,300 A 15,500
101 @I 24H| 30,300 30,300 0
04 JIZH2EXNSE 30,300 30,300 0
A THAS Ol LA XI & Al 2t 30,300
OPIE= 26,796
Ol =] 1,000
oYy w3 2,504
201 ety 54,500 70,000 A 15,500
01 At 22l 33,500 45,000 A 11,500




A ZFHHEX S
A HAWUX dASH(AY - SAIL/HEHRL R0 E)

S ATHAEONUHX e & B3 (el &)
_ _ SIEN
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
OATHHNHXIEAIZ 2H 33,500
02 =234l 21,000 25,000 24,000
OUMTHMUNUHXIMAIZ BSR= 21,000
ATHAHUX XEESXA(=2) 8,112,900 8,164,000 A51,100
= 8,112,900
403 XXM SA=01H 8,112,900 7,566,000 546,900
= 8,112,900
01 AXESMIA2E = 8,112,900 7,566,000 546,900
OENLZUAMAIA(21HL) 3,469,800
= 3,469,800
OLaUMAH (2 2) 1,506,000
= 1,506,000
OXZ HLSAIAE (2THA) 800, 100
= 800, 100
OSHUHMAIA(1IML) 2,000,000
= 2,000,000
OHZ3 +=LEAIAL(1IHD) 337,000
= 337,000
ATHHUUEX HEZSAIS (RS XA) 480,000 480,000 0
403 AXIHHSA=201H 480,000 480,000 0
01 AXEMAH=2EER 480,000 480,000 0
0= 1008t ESAtY 480,000
NS Jl=X& 30,000 50,000 220,000
307 QI2t0IA 30,000 50,000 20,000
02 BItAAEX 30,000 50,000 220,000
Ot=2XNSUHHRII=XNJALH 2SR 30,000
ATHAEOIH X A= i 500,000 0 500,000
402 QU2 THE01H 500,000 0 500,000
01 BIZFGEEX 500,000 0 500,000
OO0IMZEE O0lE HIOIQOIU Xl AAD|= JHEY 500,000
ol Xl KH& 2tel 1,787,341 1,686, 100 101,241
JbA - JITAIE e K& 97,800 97,800 0
403 NXIEMSA=01H 97,800 97,800 0
01 AXESMIA2E = 97,800 97,800 0
OMASEE LPILAAIA JHA 37,800
OMASE “=HIIANE HES 60,000
SHE dIs=AY XA(2HEEX) 157,041 30,000 127,041
403 AXIHHSK=201H 157,041 30,000 127,041
01 MXEHMA=2EX 157,041 30,000 127,041
Os0HE HIIZSAMY =& 157,041




A FENUXE M
A HAWUX dASH(AY - SAIL/HEHRL R0 E)

el X KA 2tel (el &)
_ _ pSNE e
SN "B El(3) - Bk arey G =2
SAItA B2HE MAFEEA 23,000 23,000 0
207 AN 23,000 23,000 0
01 g2 ESH] 23,000 23,000 0
OZAIJIA SSHIE 23,000
SHAME S S =& 1,500,000 1,500,000 0
501 EXt= 1,500,000 1,500,000 0
01 2ItsXt= 1,500,000 1,500,000 0
OGtANEt RIS & At 1,500,000
228 UX =5 - 2 =& 9,500 11,300 21,800
202 O4Hl 9,500 9,500 0
01 =Wl 9,500 9,500 0
Os=H HlUXlzel 2HYR =4 9,500
JIEHs (8 =& 2,217,500 1,765,500 452,000
= 1,020,000
= 1,197,500
StxJ|ISHSISHERHEH X (=1) 900,000 700,000 200,000
= 100,000
L= 800,000
306 £¢= 900,000 700,000 200,000
= 100,000
& 800,000
01 8493 900,000 700,000 200,000
Ogt=l|=8slESAFRdE 2Y K& 900,000
= 100,000
= 800,000
JIZHsiis 88 =8 17,500 32,500 A 15,000
202 O4Hl 9,500 9,500 0
01 SUWAHYI 9,500 9,500 0
OJ|l=HaM JRFA 9,500
301 Ypt8azg 2,000 13,000 A 11,000
10 EAIAHIE A= 2,000 13,000 211,000
Og2z s HFAXL 2,000
307 QI2t0IA 6,000 10,000 24,000
02 2ItAAE X 6,000 10,000 4,000
OJl=dgstiis2ad LTI 6,000
JIZHeIES 2 SUAEXA (=) 1,050,000 1,033,000 17,000
= 795,000
L= 255,000
201 LBt 3| 10,000 10,000 0
= 5,000
L= 5,000




A FENUXE M
A HAWUX dASH(AY - SAIL/HEHRL R0 E)

&2l JIZEs (e F& (9 E2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
01 AFR22lH| 10,000 10,000 0
Oel2IH(OYAEE) 24 10,000
= 5,000
& 5,000
207 A0 2| 450,000 600,000 A 150,000
= 225,000
= 225,000
01 ARE4H| 450,000 600,000 A 150,000
OS2zt JI=83s 2LIHE 300,000
= 150,000
& 150,000
OZ2E Jl=83s M2 NROIHAHE =& 150,000
= 75,000
& 75,000
307 212t01& 50,000 30,000 20,000
= 25,000
= 25,000
02 QI2ZtBAE X 50,000 30,000 20,000
O22IH (OB AEIE) &4 50,000
= 25,000
= 25,000
308 XX HHSO0IA 125,000 93,000 32,000
= 125,000
01 AXSMBAEEXS 125,000 93,000 32,000
Ol (OYAEE) 24 X 125,000
= 125,000
403 XX SHH S XH= 0| & 415,000 100,000 315,000
2 415,000
01 RXSHMA2BE = 415,000 100,000 315,000
O A H=z3 AMlEE W K& 200,000
= 200,000
OJIZ 8832 =4 100,000
= 100,000
ogg MHe=s el & 15,000
= 15,000
o=4a=st 100,000
= 100,000
SAItA 22| olZgt RH(21) 50,000 0 50,000
= 25,000
= 25,000
201 Let23| 10,000 0 10,000
= 5,000
& 5,000
01 AtE222/Hl 10,000 0 10,000
OtHEdHHM 2|18t A= 10,000




A FENUXE M
A HAWUX dASH(AY - SAIL/HEHRL R0 E)

el JlSHE 1S &= (B9 &2
SA BB H(BH) - MBAY - B2 Of) & o gggi; HRs2
= 5,000
= 5,000
202 01t 3,000 0 3,000
= 1,500
= 1,500
01 2UjodHl 3,000 0 3,000
OIEANUK 2LIIg 75 3,000
= 1,500
= 1,500
403 REXISHSKHZ 0| H 37,000 0 37,000
= 18,500
= 18,500
01 MXCSHI=EE 37,000 0 37,000
O EHINHA 2|8 2= 37,000
=2 8,500
= 18,500
BAIZAL BASY DRIH(2D) 200,000 0 200,000
= 100,000
= 100,000
207 1O 200,000 0 200,000
=2 100,000
= 100,000
NIEEEET 200,000 0 200,000
OHYIIZAL SASYT2 I OIAHSH 200,000
=2 100,000
= 100,000
HHSAAY (HROH XY (OIEHIIEH 31,585 31,585 0
=Bl 31,585 31,585 0
A2 Il 31,585 31,585 0
201 Y2 Y| 23,425 23,425 0
01 ALR2Z2/Hl 23,425 23,425 0
CEVELWIEETIN] 23,425
202 01| 8, 160 8, 160 0
01 2Ujotbl 8, 160 8, 160 0
oRN2Y 2oyl 8, 160




